WORKSHEET @

CHAPTER 4 — FLOATATION

A. Tick (V) the correct option.
1. Thrust per unit area is called

a. Buoyancy. b. Pressure. c. Thrust. d. none of these.
2. SI unit of pressure is

a. Newton. b. kg/md. c. Pascal. d. none of these.

3. Pressure exerted by a force of 20 N on an area of 4 m? is

a. 5N. b. 10 N. c. 20N. d. ON.
4. Density of a substance is inversely proportional to its

a. mass. b. volume. c. thrust. d. none of these.
5. Buoyant force is inversely proportional to the

a. density of fluid. b. gravity. c. temperature. d. none of these.

Fill in the blanks.

Density of a substance is defined as its mass per unit

Relative density of water is

If relative density of a substance is more than one, the substance will in water.

The force acting on an object perpendicular to the surface is called

S

Density of an object of mass 40 g and volume 20 cm? is

State whether the given statements are true or false.

Relative density is a pure ratio of two similar quantities, it has no units.

When the weight of body is greater than the buoyant force, then the body will float.
Pressure inside a liquid increases with depth.

Not every liquid exerts an upward force, on the objects immersed in it.

g won = 0

Whenever any pressure is applied anywhere on a confined fluid, it is transmitted equally in all the directions
throughout the fluid.

D. Match the following.

Mass of substance

1 Pressure Mass of equal volume of water
2. Relative density Vlz)/{?;rie
3. Density Tkﬁggt

4. Pressure exerted by liquid Ht_?lght of x Dfens.lty of x Acceleratlo.n
liquid liquid due to gravity
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. Answer the following questions.

Very Short Answer Questions

. Define buoyancy.

. Give the SI unit of density.

Short Answer Questions

. An object of mass 100 g has density 5 g/cm?. Find the volume of the object.
. What will happen if the weight of the body is less than the buoyant force?

Long Answer Questions

. Why do skiers use long flat skis to slide over snow?

. The volume of 100 g of substance is 40 cm?®. If density of water is 1 g/cm?, will the substance

float or sink?



ANSWERS
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A. Tick (V) the correct option.
1. b 2. ¢ 3. a 4. b 5 ¢
B. Fill in the blanks.
1. volume
2. one (1)
3. sink
4. thrust
5. 2 g/cm?
C. State whether the given statements are true or false.
1. T 2. F 3. T 4. F 5T
D. Match the following.
1. Pressure Thrust
Area
: ; Mass of substance
2. Relative density Mass of equal volume of water
. Mass
3. Density Volume
4. Pressure exerted by liquid H?1g}.1t of X D.ens.1ty of X Accelera‘uo'n
liquid liquid due to gravity
E. Answer the following questions.
Very Short Answer Questions
1. The tendency of a fluid to exert an upward force on an object placed in it is called buoyancy.
2. kg/m3
Short Answer Questions
. Mass
1. D =
ensity Volume
100 g
3
58/ = Gl ime
Volume = 15ﬂ =20 cm?
2. When weight of the body is less than the buoyant force, then the body will float partially above the surface of

the liquid.
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Long Answer Questions

. Due to the long flat skis, the area of contact is larger. This reduces the pressure (P o< %) exerted by the skier

on the snow; enabling the skier to slide over the snow without sinking.

. Volume of substance = 40 cm?

Mass of the substance = 100 g

Mass

Density of the substance = Volume

100
=0 =25 g/cm3

Density of water = 1 g/cm?

Thus, density of the substance is 2.5 g/cm®. Since the density of the substance is much higher than the
density of water (1 g/cm?), the substance will sink in water.





